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QUESTION 1

Which DB2 product is NOT suitable for very large data warehouse applications?
A.DB2 fori

B. DB2 for AIX

C. DB2 for z/OS

D. DB2 for Linux

Correct Answer: A

QUESTION 2

What takes place when a process accesses a data object on which it already holds a lock, and the access mode
requires a more restrictive lock than the one currently held?

A. Lock wait

B. Lock timeout

C. Lock escalation
D. Lock conversion

Correct Answer: D

QUESTION 3
Which statement about UPDATE processing is FALSE?
A. The UPDATE statement logs the before and after value of every column it modifies.

B. A searched UPDATE is used to update one or more rows and a positioned UPDATE is used to update exactly one
row.

C. When the UPDATE statement modifies parent key columns, the value of corresponding foreign key columns are also
modified.

D. The UPDATE statement modifies the values of specified columns in the rows of a table, view, or underlying table(s)
of a specified fullselect.

Correct Answer: C

QUESTION 4

A column mask that is to be used for row and column access control (RCAC) was created with the DISABLE option
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specified. What must be done if this mask is to be used to restrict access to data stored in a table named EMPLOYEE?
A. The column mask must be enabled; the EMPLOYEE table must be altered to activate column access control.
B. The column mask must be enabled (column access control for the EMPLOYEE table will be activated automatically).

C. The EMPLOYEE table must be altered to activate column access control (the column mask will be enabled
automatically).

D. The EMPLOYEE table must be altered to activate column access control; row permission must be granted to
everyone who needs to use thecolumn mask.

Correct Answer: A

QUESTION 5

Which type of stored procedure is not associated with an external application program?
A. A Java stored procedure.

B. A REXX stored procedure.

C. A native SQL stored procedure.

D. An external SQL stored procedure.

Correct Answer: C
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